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Potentiometer

A potentiometer (also known as a pot or potmeter) is defined as a 3 terminal variable resistor in which the
resistance is manually varied to control the flow of electric current. A potentiometer acts as an adjustable
voltage divider.
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H How Does a Potentiometer Work?
A potentiometer is a passive electronic component. Potentiometers work by varying the position of a sliding

contact across a uniform resistance. In a potentiometer, the entire input voltage is applied across the whole

length of the resistor, and the output voltage is the voltage drop between the fixed and sliding contact as
shown below.

« Input Voltage & + I fi
E
® \/\/\/\/\/\/\/\/\ 0 Galvanometer
Sliding Contact |
— I
44— Output Voltage—Pp» E

A potentiometer has the two terminals of the input source fixed to the end of the resistor. To adjust the
output voltage the sliding contact gets moved along the resistor on the output side.
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H Potentiometer Types

There are two main types of potentiometers:
» Rotary potentiometer

» Linear potentiometer
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Advantages of Potentiometric Transducer:
They are economical

1. Easy to operate

2. Ability to large amplitudes of displacement
3. High efficiency

4. Large Output

Disadvantages:

|. Sufficient force is required to slide the wiper
2. Noise will be produced due to wear out
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